v,V towards a

1. Twocarsare moving with speedsVy Y,
crossing along two roads. If their distances from
the crossing be 40 metres and 50 metres atan
instant of time, then they do not collide if their
speeds are such that
(A) vy v2¢5:4
(C) vV, = 25:16

(8) vl:u2$4:5
(D) vy v1=16:25

2. Find the missing number.

5 6 7
3 a 5
9 10 11
Li45 460 ?
(A) 461 (8) 350
(C) 577 (D) 346
3. In Microsoft Office are used

to insert effects between slides. They are
also used to indicate 3 new section of a
presentation or to emphasize a certain slide.
(A) Drawing toolbar (B) Logos

(C) Transition effects (D) None of these

4. Facing towards South, Ram started walking
and turned left after walking 30 m, he walked
25 m and turned left and walked further 30'm.
How far is he from his starting position and in

which direction ?
(A) Atthe starting point
(8) 30 m east o )
(C) 25 m west i
(D) 25 m east
5. The four arithmetic means between 3 and 23
are
(A) 5,9,11,13 () 7,11, 15, 19
(C) 5,11,15,22 (D) None of these
6. Which flowers are also called hilaterally
symmetrical ?
(A) Regular
(C) Asymmetrical

(B) Zygornorphic
(D) Actinomorphic

7. How many triangles are there in the gVer figure ?

() 14

(A) 12
(D) 8

(C) 10
Y18
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(8) 307, 5
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(A) 5,9,11,13
(C) 5,11, 15,22
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(A) 12

(c) 10 (B) 14

(D) 8
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10.

11.

12,

13.

is the act of signing a document

calls to the signer’s attention towards the legal

significance of the signer’s act and thereby
helps preventing inconsiderate engagements.
(A) Evidence

(B) Logistics

(C) Ceremony

(D) Approval

is a multi-disciplinary

organisation tasked with investing

and prosecuting cases under PMLA.

(A) Central Bureau of Investigation (CBI)
(B) Enforcement Directorate (ED)

(C) Crime Investigation Department (CID)
(D) None of these

Which pattern most closely resembles the
following pattern ?

1 2 3 4
9@©
(A) 3 (B) 2
© 1 (D) 4

The maximum speed of a particle executing
SHM is 10ms™ and maximum acceleration i
31.4 ms2. Its periodic time is

(A) 2s (B) 1s

(C) 4s (D) 6s

The most effectively used device for removing
particulate matter is

(A) Catalytic converter

(8) Smelters

(C) Scrubber
(D) Electrostatic precipitator

The Operating System that allows only on:
o run at a time s
(B) Multitasking

(D) Embedded

program t
(A) Batch processing
(C) Real time
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4. The summer gragsiEcp | dhsraipreCFTE"

of Himalaya is called as
(B) Terai

—(A) Chaurs
- (D) None of the above

(C) Bugyals

13, A can complete 1/3 of a work in 5 days and B,
2/5 of the work in 10 days. In how many days
both A and B together can complete the work ?

(A) 10 days (B) 7% days

4
() 9% days (D) 8 days

16. When was the Bandung conference held ?

(A) 1945 (B) 1955
(C) 1948 (D) 1954

The ratio between the ages of Kamal
and Savita is 6 : 5 and the sum of
their ages is 44 years. The ratio of
their ages after 8 years will be
(A) 5:6 (B) 14:13
(C) 8:7 (D) 7:8

Inlls

18. Indian-origin American who has become the
youngest-ever chess Grandmaster in the world-is
(A) Abhimanyu Mishra (B) Amit Pratab

(C) Suraj Patel (D) AbhinavRana

is used in perfumery:and in dye
industries.
(A) Acetaldehyde (B) Phthaldehyde
(C) Formaldehyde (D) Benzaldehyde
Find the missing term in the following series.
400, 441, 484, 529, 576,
(A) 676 (B) 636
(C) 625 (D) 598

If you want to put a copy of the file in a new
tion, create a new copy with a new name,

19.

20.

21.

g}rc?:hange the file type, then use
option. |
(B) Edit
((2; gaa::as (D) Open
he amendment of the Indian Constitut:ion
- Their:: inserted the list ofFundarlnentaI Duties
V(um 447 (B) 61:m
(C) 24" (D) 42
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15.

16.

17.

18.

19.

20.

21.

22.

'Ha’r%/arj%%]%%@iﬁmﬁ dict 11 S & Her

(A) =g (B) W

(C), AT (D) 390 | & Fr
A%@ﬁwzfauawmsﬁzﬁﬁaﬂta,a
2/s¥m 10 A U aRare 1Asth g
mﬁmﬁﬁq‘fﬁwwm%?

A) 10f& B) 71 fm i
(A) (8) zﬁ? ﬁ%
(C)'ggﬁ? (D) sg-ﬁq
TG T & g7l o1 7

(A)-1945 (B) 1955

(C) 1948 (D) 1954

el 3 [fad il Y F A 6:53
37! TG 1 AT 447 2 | 8 T AR I
1 ATITG B

(A) 5:6 (B)+14:13

(C) 8:7 (D) 7:8
ﬂm@%mﬁﬂﬁa}ﬁwﬁwﬁmm
YIS UTSARt &4 &

(A) tfim=g fiysn (B) 37f¥a Tar=
(C) T 1 (D), STy Tom
IR mIEm g aa g |

(A) wHizfeeerss (B), utfreense

(C) winffeeers (D) Senfeearss
ettt saen & qu v # g |

400, 441, 484, 529, 576,

(A) 676 (B) 636

(C)e 625 (D) 598

afe 39 Fryet ) ww v ww ¢ sarey § @@
wTed &, @ U A F @iy v 7§ Wiy I

1 FI§S 1 W |gfere, g ®7
I Wi | |

(A) Save (B)® Edit

(C) Save as (D) Open

el wifam & farg @i # wfers

wdea) & g weh g 7 _

(A) aadl (B) 61a1

(C) 24@ (D)e 4271



23. ~ B means A is the daughtercnd fah-Qrpup Hargamad dassifl o & | A - 5 o 2

=me2ns A is the husband of B. AxB'means A is
__the brother of B.
~If £+ Q- R, which of the following is true ?
= (A Ris the mother of P
(8) Ris the mother-in-law of P
' 1) Ris the sister-in-law of P

“i

) Risthe aunt of P

# 1

26 £3l-Mediated Immunity (CMI) is mediated by

@agg (A) T-lymphocytes
. gg (C) B-lymphocytes

25.

(B) Mast cells
(D) Erythrocytes

The term used for ‘fintech firms’ with only a
digital presence and no physical branches is
(A) Neo-bank (B) Bank

(C) Geo-bank (D) Pseudo-bank

Witchweeds is a

(A) Parasitic

(B) Act as predator
(C) Symbiotic

(D) None of the above

26.

27. spread when users are convinced

to open or download a program because they
think it has come from a legitimate source.
(A) Worm (B) Trojan horse

(C) Logic bomb (D) Trapdoor

Mekong Ganga Cooperation is as per Indian
Policy of

(A) Act West
(C) Act North

(B) Act East
(D) Act South

29. Foreign Exchange Regulations Act, 1973 deals
with

(A) Foreign Contribution Manipulations

(B) Money Laundering

(C) Fraudulent Bankruptcy

(D) Racketeering in False Travel Documents

In a certain code, 'ADDITION’ is written as
‘ZWWRGRLM'. How Is ‘"HORRIBLE" written In

that code ?
(A) SLIRIYOV (B) SLIIROYV
(C) SLIIYROV (D) SLIIRYOV

24,

25.

26.
27,

28.

29,

30.

ABFI TR | AXBHT 31f 3 A BT aé 2 |
R P+ Q- R, Ferfefad i & fr-mam 2 7
(A) R, Pl wran 2

(B\ R, P ATH 2

(C) R, P TH2

(D) R, PHI T 2

Fifiw-arfed wfduwa (om) zm
Fifea Bt 2 |

(A) &-ferprarsz (B)* T Fiforard

(C) sft-fermmrez (D) uftsrrarsz

Fae fesflea sufeufaareh s P e frdim
Tes ol Ffom o ez 2

(A) Frn-a= (B) %

(C).For -3 (D) -
fererefem o= 2

(A) Tt

B) TRttt % w9 & =7 =i

(C)eFrestreft

(DY 39T | § 1 7

SR TF W™ F AE AT SRS ¥ v
s F1 iR w0 a7 e, w0 3 o

& 1% w8 us aduma wie @ s 2

(A) afd (B)« 2197 =i

(C) ATfSIF at= (D) ¥wzn
U1 wEdm wwa ) A ¥
FTARR |

(A) T FR (B). UF ¥

(C) uwe Alef (D) U W3y

foree fafoma faftem sifufem, 1973 @
gafea 2 |

(A) faRsft avmer u

CIRERUCE]

(C) utaE) fanfernya
(D) 3Teed ATH] EarE! 2 Y

U g2 1 ADDITION' &1 'ZWWRGRLM' féran
A1 R | 'HORRIBLE' &1 34 e # & feven
s 7

(A) SLIRIYOV
(C) SLIYROV

(8) SLIROYV
) (D) SUIRYOV
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31

33.

35.

36.

37.

38.

(@

oy 0k
gyTet (C) 227
e (C) 22™May
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i tfound in
h one of the following are nNO
whic
Kerala forests ? Mangoes
Coconuts i
(il} Snow |eopards (D) gleph
( e the same

which two months in a year hav
calendar ?

ber g -
(A) Juné Octo vj_?.
(8) October, December ,_ Iﬁ%

(C) April, November
(o) April, July

is shortcut key to cut the text.

(B) ctrl+C

—
(A) ctrl+Z
(D) ctrl+Y

(€) ctrl+ X
The ostensible purpose of the invasion of
uUs-led coalition on Iraq in 2003 was
(A) to prevent Iraq from attacking on Kuwait
(B) to prevent Iraq from developing
weapons of mass destruction
(C) to prevent Iraq from developing
hostilities with other countries
(D) to end the rule of Saddam Hussein

The following question is based on the series.
ABCDEFGHIJKLMNOPQRSTUVW!YZ
Which letter is the 7" to the right of the

13 |etter from your left ?

(A) 5 8) T

v (D) U

How many numbers can be made with the
digits 3, 4, 5, 6, 7, 8 lying between 3000 and
4000 which are divisible by 5 while repetition
of any digit is not allowed in any number ?

(A) 60 (B) 12
(C) 24 (D) 120

is a portion of a program in some
stage of execution.
(A) Quantum
(C) File

(B) Directory
(D) Process

Human Rights Day |

. y is observed b
International Community every year nnV e
(A) 10" December (B) 14" February

(D) None of the above

33.

34.

35.

36.

37.

38.

o, HagfeREfobs.in"
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(B)QTW

(a) T (o) &

C fom g%
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@,

L/t:}; ﬂ?@{’@q{)

() 3, T

(D) a}aa-ﬁ“

N ¥ R ergra $11 8 |

) arl+2 (B)ectrl *

(C) ctrl +X (D) ctrl +Y
ﬁzwsﬁmﬂﬂmmaﬁwi
—F UL
(A)mﬁﬁﬁ““mﬁﬁm
(B,maﬁq@am%zﬁmﬁﬁmﬁﬁﬁﬁ

g U

{_c)mmaﬁm%aﬁ%amasqmﬁa:ﬁmaﬁﬁ

@A
(D) wem g8 % wITEA Y AT FAT
Aoffea W ABCDEFGHIJKLMNOPQ
RSTUVW XY Z S@ei | ST & |
o ad & 139 7o & 2nd 7 &f avf PA-w1 €™ 7
(A) § (B) T |
(© v (O) U

;m.‘mm*“@“ 3,4,5,6,7, 8 3

mﬁ%@lﬂmmm%a’! sq fayrsw
ft g o et % & gg

FEfa T & 7 b

(A)* 60
(C) 24 (B) 12
- (D) 120
R | F1 e & g o §
(A) FETeR R
(£} 0} e

I
mmwmmmmwﬁanm

(A) 10fEaR

(€) 2278 (B) 149
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63. The emfof the

15V and intern

current drawn
2Q

15V—[ 26Q

E

0.50‘ )

8Q
(A) 1A
(C) 2A

Join Telegram Gr "H
o |63 R

battery € in the circuit shqwn is
al resistance 0.5Q. What is the
from the battery ?

7Q

1Q

10Q
(B) 4A
(D) 3A

64. Soil erosion are more in
(A) Hilly parts
(C) Plains

65. is a key tool for the spread
of ID theft, luring people into
disclosing sensitive information
such as credit card numbers or
passwords.

(A) E-mail bombing
(B) Spam

(C) Cyber terrorism
(D) Cyber stalking

(B) Desert
(D) Coastal line

66. When a change in one variable coincides with
a change in another variable, but does not
necessarily indicate causation it is called
(A) Evidence
(B) Degree of freedom
(C) Significance
(D) Correlation

What will replace the question mark ?

oyoxo;
3 3 4

(A) 18 (B) 19
(C) 20 (D) 21
68. Which of the following departments of the
Government of India will undertake the
Swachh Survekshan Grameen 20217
(A) Department of Drinking Water and
Sanitation

B) Department of Economic Affairs
{C)) De:artment of Health and Family Welfare

| (D) None of the above

67.

-10-

63.

67.

S ¢ @ emf 15V 3R i

¢
ofyde 0.5Q & | &4 @ it Tt faga w e ?
2Q) 7Q2
15\L_E 10
0.5Q
8Q2 102 El E‘j
(A) 1A (B) 4A R
(C)72A (D) 3A
firgh 1 aTEA tfereh Eiar
(A) vETEt Wit | (B) woyfir 1
(C)+trerft wia o (D) Wt el W
R =it & fore v wewEl 39 2,
i it 8 3o e e e Sef e
ST 1 el 0 3 forg gman & |
(A) $oa sifesm
(B) &M
(C) |TER 3TaHaTE
(D) |TEEt wIfdHm
Se T 9 H qRadd qEt = H uftads ¥ 9y
iﬁﬁ'ﬁﬂﬁﬂ %,:i§<t=ﬁﬁ Eﬁﬁﬁiﬂvw éﬁwa,qi_ga
™ & IR |
(8) ?ﬁmaﬁ@m
(C) Wew
(D)-asHEYy
7 e & v W @ ?
24 1@;,- 1@5
3 3 ]
(A) 18 (8) 19
i) 20* (D) 21
fraferiea # & Wi @R & FH-3 v w=s
e mefior 2021 A 7
-(A)masﬂtﬁmmﬁqm
(B) aTfis wrTet
(CppTaTERd T YRET ey e
(D) 3 # & ¥ el



55. |f HEALTH is written U, then no
will NORTH be wriﬂegkﬁaﬁ@kgram

(A) OPSUI (B) GSQNM }’
(C) IUSPO (D) FRPML
= 3
56. In PM KISAN Scheme, Government will dhea
provide @xE

(A) Loans to farmers bank account

(B) Direct benefit transfer to farmers bank
account

(C) Insurance to farmers bank account

(D) Pension to farmers

57. How many days will be there from 22™ Oct. 2012
to 5™ March 2013 ? (Both days not included)

(A) 128 (B) 131
(C) 133 (D) 132
58. A adds up various file characteristics

to produce a hexadecimal number.
(A) Melissa (B) Network mail facility
(C) Happy 99 (D) Checksum

59. Section 2 inCr.P.C.defining “victim"’ as a person
who has suffered any loss or injury caused by
reason of the act or omission for which the
accused person has been charged includes
(A) victim’s guardian
(B) victim's close friend
(C) victim’s guardian or legal heir
(D) victim’s neighbor

§0. Who is the current speaker of Lok Sabha ?
(A) Meira Kumar
(B) Om Birla
(C) Sumitra Mahajan
(D) None of the above

61. What was the period in which the
industrial Revolution took place ?
(A) 1750-1917 (B) 1750 - 1850
(C) 1745 - 1845 (D) 1650~ 1750

ou

62. Three personsA, B and C are standing in a queue.

e e heatween A and Band eisht |

b Y

pi EALTR T G aha U 1T TN o, GFINUR TR 9
D "Harenais bR '

56.

57.

58.

59.

61.

62.

(A) OPSUI (B)» GSQNM
(C) IUSPO (D) FRPML

pM foram e |, En I9erey FHwt
(A) ForETt % 3 @i # F:m
(B)+FraT! 3 ¥ @Al § yeas @ S
() et % & @i &1 st

(D). foFam! %t 4v

22 1A 2012 & 5 HTH 2013 7 e
Radh ? (vl A Rm A E) Bk

-

(A) 128 (B) 131 OE 4]
(C) 133 (D 132

fafir wrge faemaanat 1 o
TR Fa 39F F & foTU SSATR |
(A) wferan (B)* ¥ U gfa
(C) #uft 99 (D) =FEW

ol ) ur 2 8 i’ FwE W ARE F
w3 ofonfa R T }, PR mFd @ 9F F
Fo 8 JHaE A = ot B, o fore s
Safeh = TR ST T R, S I & g

(A) HiT FHHAT

(B) 31w feren

(C)-gftrn wesH

(D) Iutiaa § | I T

;ﬁmﬁamm%mmm
off 7

(A)+1750 - 1917 (B) 1750 - 1850
(C) 1745 - 1845 (D) 1650~ 1750
drisafda A, B s cuwuf d @ ¥ | Asi gy
ofr ut sufaa 8 3l ¢ & e 38 =ufdq & | 40
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48. Theterm 'Geograph
(A) Humboldt
(C) immanuel Kant

In which Aestivation the members of 2 wh:r:
(sepals or petals) lie close tp each og e
without any overlapping of their ‘margms .

(A) Valvate (B) Veml'.lar\,f

(C) Twisted (D) Imbricate

y' was first coined by
(B) Eratosthenese
(D) Ptolemy

a9.

It refers to any significant alteration
over time in behaviour patterns
and cultural values and norms

(A) Orthogenetic change

(B) Social change

(C) Heterogenetic change

(D) All of the above

50.

51. Adipose tissue is a reservoir of stored

(A) Protein (B) Minerals
(C) Vitamin (D) Energy

52. Consider the following statements about

National Sample Survey Organisation (NSSO).
I. Itis an organisation under the =~
Ministry of Statistics and Programme

Implementation of the Government of
India.

II. It was established in 1970.
Choose the right option given below.
(A) The statement | is correct
(B) Both the statements | and Il arg incorrect
(C) The statement Il is correct
(D) Both the statements | and Il are correct

53. Find the missing number in the following

question.

an
N

(A) 127 (B) 238
(C) 31 (D) 217

A and B are standing at the same point.
They decide to move exactly in the opposite
direction to each other. Agoes 5 km East. Then
goes 7 km North, then goes 5 km West and
finally goes 7 km North. What is the shortest
distance between Aand B ?

(A) 48 km (B) 118 km

(C) 38 km (D) 28 km

54,

Join Telegram Gro

49.

50.

51.

52.

53.

54,

UP,s Hagsanadetfrin e = = 20

(A) TETE (Bl S_IT"flmdla
O mEEEe (01T

Wma@mwaﬂm*
?umﬁmmﬁﬁ;sﬁmﬁhmaﬁar&ﬁﬂm

| S f= 1 @ frae qufta wer R 7
(A)s I (8) @i
(c) faerfim (D) F=
T T GAE GEA (TATEUES) % AR o
frafrRaa wut w famm w6t |
. T8 WA T F wiferd i wrdwy
FAEEH YA F d8d UF T3 R |
I\, el TaTe 1970 | 78 off |
frafafta o @ w@ fawes &1 9973 &t |
(A) F9= | EE R

(B) F&= | 3 || 21wt 4 #
(C) ®eA 1|

(D e | 3 11 31w ¥
e e e 3 g s 1w |

an
NP,

(Ay 127
(C) 31

() Vi
LAY T
(8] (3]

(B) 238
(D) 217
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39, _The negative relation...ip between price of a
“° " "commodity and quantity demanded, which is
-  referred to as
= = (A) Law of supply
~ (B) Law of consumption
"1 (C) Law of demand
' (D) Law of diminishing marginal utility

4G, How much angle does a minute hand of a clock
*' coverin the same time in which the hour hand
of the clock covers an angle of 25° ?

(A) 300° (B) 150°

(C) 500 (D) 240°
41. Where was Garibaldi born ?

(A) Piedmont (B) Nice

(C) Sardinia (D) Genoa

42. Which of the following attribute/s are important
in determining the dominant status of a caste ?
(A) Numerical strength
(B) Political Power
(C) Economic power through ownership of
land
(D) All of the above

43, aba ba ab
(A) abbba (B) bbaba
(C) abbab (D) baabb

44,  Which one of the following country is not a
permanent member of UN Security Council ?

(A) France (B) Japan
(C) China (D) England

45. The difference between two numbers is
9 and the difference between their squares Is

8™ 207. The numbers are
Wi (A) 17,8 (8) 16,7

(C) 23,14 (D) 15,6

46. B-cells of Pancrease secrete _
(A) Glucagon (B) Vasopressin
(C) Insulin (D) ADH

47. What is the total term of non-permanent
members elected for the United Nations

Security Council ?
(A) Two years (B) Three years

(C) Ten years (D) One year

S.in
CMES - 54

39, T G F e SR i A 1w & o
i ammm____wg,
BT (o) srofd 1 frem

(B}-Tqd &1 f3a9

(C) |in =1 figw

(D) et ATfSieT Y= &1 figm

40. & 9! F G AT GZ 250 FIV TG R, A T
g3l #t e areft ¢ foraan v a4t @ 7
(A) 300° (B)- 150°
(C) 50° (D) 240°

41. TIETCS! I FH FEl gIAT ¢
(A) FeHiE (B) 7$®
(C) TEfefmn (EEEIEL

42, f=fRed 4 @ w=-1 7o/ ferereamd
STt Yy feufy =1 fufor w0
H gl & 7
(A) TEITCHS qTohd
(B). el &=
(C) vIffy % w@fires & mrem & s wf
(D) I9TiEa |t |

43. aba ba h ab
(A) abbba (B) bbaba
(C). abbab (D) baabb

44. Frafafaa § @ S¥-g1 29 Gg9a T g gieg
F1 YTt geR TE R 7
(A) i@ (B) ST
(C) &= (DJ-'E‘E-‘?E

45. T @Ml 1 AR 9 2 IR I ANl F T @
3R 207 R, gEAmd enfl

(A) 17,8 /) 16,7
(C) 23,14 (D) 15,6
46, oTHE & BRI arfea Fdl @ |
(A) T[T (B) WM
(C) =gfer (D) ADH
a7. e g e wftes & Rvg g e st et
1 el TR fre1 R 7
(A)o @1 T (B) et ad
(C) zu ay (D) w
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(A) Hgiferam
(B)ewTfa a1 ferega
orq  (C) FFET

D Fil
(D) 9T 5,

70. TF FR 95 § 540 forrht A gt 7@ Al R | T
& &t fd e At i @ A R, 9 2 forerd fa
w75 oht TR o AR @ | =15 9T 52 | Frt 8

& Fm ?
(Ayeaso T (8) 500 el
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atements about basic

snsider the following st

nctions of the Reserve Bank of India.

|. Regulate the issue of Bank notes and
keeping of reserves with a view to
securing monetary stability in India.

Il. To have a modern monetary policy
framework to meet the challenge of
an increasingly complex economy, to
maintain price stability while keeping in
mind the objective of growth.

“hoose the right option given below.

(A) The statement | is correct

() Both the statements | and |l are correct

(C) The statement Il is correct

(D) None of the above

Which word will come in the place of question
mark ?

Presume : Assume : : Assign : ?

(A) Request (B) Allot
(C) Replace (D) Proud

In Deacon’s process for the prepa ration of

chlorine is used as catalyst.
(A) AlCI, (B) CuCl,
(C) ZnCl, (D) PbCl,

Election is held only for one constituency to fill
the vacancy caused by death or resignation of

a member is known as 3
(A) By-election (B) Post-election
(C) Sub-election (D) None of the above

An Economy in which there is both the Private
sector and the Government is known as

(A) Capitalist Economy
(B) Mixed Economy
(C) Developed Economy

(D) Underdeveloped Economy
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How many S

pai fgzes when a cube 15 painted an cu

into 729 smaller pieces put identical by making
‘the minimum possible numl:;er of cuts
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REDMI NOTE 6 PRO-

Find out the misspelt word

in the following.

(A). Aerial

(8) Aircraft
(C) Airoplane
(D) Aerodrome

Fill in the blank with appropriate phrasal verb
from the alternatives given below.
The solicitors will your claim to the
property.

(A)esee through

(B) see into

(C) see off

(D) seeup

Give the meaning of the underlined idiomatic
expression from the alternatives given below
it. (understanding the context from the
sentence)

He moved heaven and earth to.seé his son
married to the industrialist’s daughter.

(A) todo all that can be done

(B). bad and good days

(C) to accomplish 2 tasks in one attempt
(D) to be doing too many things at one time

Complete the sentence using appropriate tense
form from the alternatives given below it.

When Mrs. Smith _____ the baby cry, she
antopick himup.
(A) heard

(C) hag

(B) was heard
ord (D) hears

mlwmprlm form of the
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g T promote domestic cultivation of oil palm in
the next five years, new centrally sponsored
scheme is approved. It is
(A) National Mission on Edible Oils-0il Palm
(NMEO-OP)

(B) Oil Palm Mission (OPM)

(C) National Palm Oil Scheme
(NPOS)

(D) National Mission on Enriched
Oils (NMOE)

gs. Read the data given below and based on it
answer the following question :
500 students of a college, 49% like watching
football, 53% like watching hockey and
62% " like watching basketball. 27% like
watching football and hockey both, 29% like
watching basketball and hockey both and 28%
like watching football and basketball both.
5% liked watching none of the games.
How many students liked watching all the
three games ?

(A) 15 (B) 225
(C) 75 (D) 200
86. The information added in the is not
visible while working with the presentation,
but will be available when itis printed.
(A) Notes master (B) Slide master
(C) Handout master (D) None of the above
87. Under the 7% Schedule of the ~Indian

Constitution, Police is under the ‘
(A) Union List (B) Concur.rent list
(C) Central List (D) State List

88. The operation of railways in india began In

07
Uwm (A) 1853 (B) 19
%% (C) 1859 (D) None of the above
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50%, then the percentageé
areais

(A) 25 (B) 73
(C) 50 (D) 6
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